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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. Answer any 5 questions.

3. All questions are divided into Sections A and B.
Attempt any 5 out of 7 questions from each sections.
Section A has short answer questions and each
carries 5Smarks whereas Section B contains long
answer questions and 10 marks.

4. Answers may be written either in English or Hindi;
but the same medium should be used throughout the
paper.
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SECTION - A

1. If the money supply is given , why does an increase

in income lead to an increase in the interest rate?
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What is the IS curve? How is it derived?
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Explain the concept of wage-setting relation and price-

setting relation (Diagrams are required)
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What does aggregate supply relation show, if the
expected price level increases then what would be

the impact on the aggregate supply curve?
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Discuss the concept of neutrality of money.

P.T.O.
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6. What is the inflation? Discuss the costs g

inflation.
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7.  What are the two main types of exchange rate?
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Section — B

Draw the diagram of the IS-LM framework. Indicate

in which direction and why the IS-curve would shift

if the subsidy is given to investors.
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i) What ‘o the crowding-out ¢ffect? Can crowding

out cffect be avoided?

(i) Explain the impact of an increase in
unemployment benefits on labour market

equilibrium.
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Derive the aggregate demand (AD)-curve with the

help of the IS-LM model. What are the determinants

of the aggregate demand curve?

P.T.O.
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4. Suppose the government is running on a budget deficit
and decides to reduce it by decreasing its spending
while leaving taxes unchanged. How will this affect
the economy in the short term and medium run? Explain
with the help of the aggregate demand aggregate

supply model.
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gxplain the concept of expectations-augmented Phillips

5.
curve. What are the shifting factors of the Philips

curve?
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6. What are the components to be included in the balance

of payment of a country?
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7. Explain the following concepts :—

(a) J-curve

(b) Purchasing power parity

P.T.O.
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